

Republic of the Philippines **QUEZON CITY GOVERNMENT** BIDS AND AWARDS COMMITTEE



2nd Floor, Procurement Department, Finance Building, Quezon City Hall Compound

REQUEST FOR QUOTATION SMALL VALUE PROCUREMENT (**SECTION 53.9**)

		Date :	December 05, 2019
		RFQ No. :	19-W14-1050
Name of Company	:		
Address	:		
Contact No.	:		
Project Title	: PURCHASE AND DELIVERY OF COMMON	AND NON-COMMON OFFICE	SUPPLIES
Approved Budget for the Contract	: Php292,558.64		
End-User / Implementing Office	: HUMAN RESOURCE MANAGEMENT DEPA	RTMENT	

Please quote your best offer for the item/s described below, subject to the Terms and Conditions provided. Submit your quotation duly signed by you or your duly authorized representative not later than **December 12, 2019, Thursday, 9:00AM** Philippine Standard Time, together with the following documents of your company:

- Mayor's/Business Permit (2019); PhilGEPS certificate (not expired on the time of opening of quotations);
- 3 Income/Business Tax Return (for FY 2018); and
- 4 Omnibus Sworn Statement prescribed by the Government Procurement Policy Board (GPPB).

Additional Instructions:

- Affix the signature of your company representative on the sealed envelope flap.
- Only the project name and address should be written / printed on the envelope.

in a **SEALED LONG BROWN ENVELOPE** indicating the project title and address as indicated below:

Project Title: PURCHASE AND DELIVERY OF COMMON AND NON-COMMON OFFICE SUPPLIES

Quezon City Local Government BIDS AND AWARDS COMMITTEE 2/F Procurement Department, Finance Building **Quezon City Hall Compound**

For any clarification you may contact us at 89884242 loc. 8505/8506.

(Sgd.) ROWENA T. MACATAO BAC Goods Chairperson

TERMS AND CONDITIONS

- 1. Bidders shall **provide correct and accurate** information required in this form in black ink only.
- 2. Price quotation/s must be valid for a period of thiry (30) calendar days from the date of submission.
- 3. Price quotation/s, to be denominated in Philippine Peso shall include all taxes, duties and/or levies payable.
- 4. Quotation exceeding the Approved Budget for the Contract (ABC) shall be rejected.
- 5. Award of contract shall be made to the lowest quotation (for goods) or the highest rated offer (for consulting services) which complies with the minimum technical specifications and other terms and conditions stated herein.
- 6. Any interlineations, erasures or overwriting shall be valid only if they are signed or initiated by you or any of your duly authorized representative/s.
- 7. The City General Services Office (CGSO) shall have the right to inspect and/or to test the goods and confirm their compliance to the technical specifications.
- 8. Non-submission of eligibility documents shall mean disqualification of Quotation.
- 9. After delivery and upon the submission of the required supporting documents, i.e. sales invoice and/or billing statement, by the contractor, the Quezon City Local Government shall make payment through check in favor of the contractor.
- 10. Liquidated damages equivalent to one tenth (1/10) of one percent (1%) of the value of the goods not delivered within the prescribed delivery period shall be imposed per day of delay. CGSO shall rescind the contract once the cumulative amount of liquidated damages reaches ten percent (10%) of the amount of the contract, without prejudice to other courses of action and remedies open to it.
- 11. Failure to follow these instructions will disqualify your entire quotation.

After having carefully read and accepted the Terms and Conditions, I/We submit our quotation/s as follows:

	QUOTATION						
Summary of Approved Budget Total offered Quotation							
Item Description			Unit of	(Inclusive of taxes and fees)			
	(Technical Specifications)		Measure (UOM)	Unit Cost	ABC Amount	Vendor's Unit Price	Vendor's Amount
1	Correction Pen, quick dry formula, metal tip, 5ml	8	рс	120.00	960.00		
2	Mechanical Pencil Sharpener, individually packed	4	рс	187.20	748.80		
3	Stapler, Binder Type, Heavy Duty	2	рс	878.80	1,757.60		
4	Tape Dispenser, table top	4	рс	55.83	223.32		
5	Scissors, symmetrical, blade length: 65 mm minimum	6	pair	15.60	93.60		
6	Calculator, Compact, 12 Digits	2	рс	135.20	270.40		
7	Toner Kit, Kyocera TK-479	10	cart	12,320.00	123,200.00		
8	Ink Cartridge, HP 932XL, Black	30	cart	2,520.00	75,600.00		
9	Toner Cartridge, for HP Laserjet M102A, Black	5	cart	5,670.00	28,350.00		
10	Toner Cartridge, for HP Lasertjet P1102, Black	6	cart	4,225.00	25,350.00		
11	Detergent Liquid, stain remover, 1 liter/bottle	15	bottle	169.00	2,535.00		
12	Dishwashing Liquid, 500ml/bottle	24	bottle	112.00	2,688.00		
13	Liquid Hand Soap, Push-type, plastic dispenser, 1 liter/bottle	12	bottle	350.00	4,200.00		
14	Extension Cord, 10 meters, 5 gangs, good quality, with on and off switch	2	рс	967.00	1,934.00		
15	Meter Tape, 50 meters/165 ft length	1	рс	1,299.00	1,299.00		
16	Bulb, LED, 15 Wattes, 230 volts	3	рс	487.00	1,461.00		
17	Bulb, LED, 9 Watts, 230 volts	3	рс	280.00	840.00		
18	Mouse, Optical, Wired, USB Connection type	8	unit	134.99	1,079.92		
19	Fire Extinguisher, Brand New Pure HCFC 123, 4.5 kgs with fire rating of 1A, 1BC, for ABC calss of fire, stored pressure type, non-electrical conductor, non-corrosive, 4.5 kg (10lbs)	4	unit	4,992.00	19,968.00		
	Nothing Follows			TOTAL:	292,558.64	TOTAL:	

Signature over printed name	

Date	
Date	

Email Address